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B B aER % 421 39 81| 8.5 72.5
2B =8 % 44 41| 85/ 12.5 72.5
ML kR FE 44 43| 87| 14.5 72.5
M IRAR EF 40/ 45 85/ 11.7 73.3
56 |hA  FH 44 43| 87| 13.5 713.5
6. |[ILEX = 421 41 83| 9.5 73.5
M EEkE B 40 43| 83| 9.5 73.5
8L |tiE = A1 44| 85/ 10.5 74.5
o B HF# 40| 48] 88| 12.5 75.5
106 &% #th 44] 45 89 12.5 76.5
1 #@E %8| 44 46| 90| 13.5 76.5
1260 A% &1 A1 48] 89 12.5 76.5
131 k<KX RB#A 43 47 90| 12.7 T71.3
1461 EE RB= 45| 42| 87| 9.5 71.5
156 {28 fEth A1 40| 81| 3.5 71.5
1662 |JIlE EE 44 47 91 13.5 71.5
176 [E8E — A1 44 85 7.5 T1.5
1861 |[FII BE A4 48] 92| 14.5 T1.5
1961 |#E 8k 40 45| 85 7.5 71.5
206 [fERK F 40 49| 89 11.5 71.5
2162 (B B 43 48] 91| 11.5 79.5
2201 |[fIER EZE 45| 43| 88| 7.5 80.5
2361 B W& 43 43| 86/ 5.5 80.5
2461 [#f@A 2 42| 46| 88| 6.7 81.3
2561 [N Zm— 48] 43 91| 8.5 82.5
266 (AR EA A7 44 91| 8.5 82.5
2761 |[BR R&A 48] 48] 96| 12.7 83.3
2861 [HH ERX 51 47| 98 14.5 83.5
2961 [JEA X 45| 48] 93] 9.5 83.5
06 (AT B 50/ 41| 91| 6.5 84.5
3k BB XF 45 47| 92| 7.5 84.5
3261 [mAR HFE 43| 47| 90| 4.5 855
L [HE FX 46] 51 97/ 10.5 86.5
ML [ EE KA 48] 53] 101 14.5] 86.5
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